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1. ROMNZEz 72 S0,

1) Hiy = %xn:mm r=—4,10DEEDITT LD 2 HEBDERORERDAR SV,

(2) By = -32212B\W T, 2 =-3,20L &NV T 7 LD 2 E@bERORXERD RS,
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“REAB<HYREER 2> No.2

1. ROMNZEz 72 S0,

(1) By = -3221CB\W T, 2 =-2,4DL &NV T 7 LD 2 HE@bERORXERD RS,

2 By = 22128V, o=-2,1DLEDTT7 L0282 @5 EMORERDZRE N,

(3) Bty =22212B N T, a=—-1,20LEDS T 7 LD 2 HEEHIEMBORERD S,

.

4) By =-32°21CB VT, 2=-2,3DLEDIT77 LD 2 HEEIERONEZRD R I,

.

(5) By =228 VT, e =-3,20L XD/ T 7 LD 2 HEEHEMBORXERD RS,




“REAB<HYREER2> No.3

1. ROMNZEz 72 S0,

(1) By = 22128V, o=-5,20EDFS 57 L0282 @5 EMROREZRDZRE N,
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4) Wiy = —22I2BWV T, 2 =-2,10LEDTT7 LD 2 82 B@HEMOXERDRE N,

.

(5B) Wity =22I2BWV T, a=—4,1DEEDYS T 7 LD 2 HE2EHEMORERDREN,




“REAB<HEMIREER 2> Nod

1. ROMNZEz 72 S0,

(1) By = 22128V, o=-2,10DLEDTT7 L0282 @5 EMROREZRDZRE N,

(2) By =2212BVW T, 2 =-5,20L&DV T 7 LD 2 HE@bERORXERDR SN,
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“REAB<HYREER2> No.b

1. ROMNZEz 72 S0,

1) Hiy = %xn:mm r=—4,20LEDI 77 LD 2 HEBDERORERDAR S,

(2) By = -32212B\WC, 2 =-3,4DL &NV T 7 LD 2 HE@bERORXERDR S,

(3) Mty = 222128V, 0= -3, D L&D T 7 LD 2 HEEHEMOXERD RS,
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(5) By =228V, a=—-51DL&DI T 7 LD 2 HE@bERONERD RSN,




